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j�RR �Yst �Y� 8s��$tsj }�BIZ{� BP $t%�R�8�t� PB� �Y� $t%�R�$t� h�8� qY��� $R s IB8�R�${

R}��sI $t sjj j�tI$t�� yt s Ikts8${ {Bt��-� �Y$R 8�stR �Ys� �Y� B}}B��Zt$�k {BR� BP ZR$t�

$t���ts�$Btsj j$JZ$I$�k �BIsk w$��� �Ys� BP j�tI$t� �Y�8 IZ�$t� s PZ�Z�� IBbt�Z�tD $R jBb��

�Yst �Y� RB{$sj B}}B��Zt$�k {BR�� i�js�$%� �B s {BtR��s$t�I �^{$�t� BZ�{B8�� �Y� }�$%s��

R�{�B� B%��T$t%�R�R IZ�$t� �Y� ABB8 A�{sZR� $� ZtI��%sjZ�R $t���ts�$Btsj j$JZ$I$�k�

7�{BtI� b� I�8BtR��s�� {BtI$�$BtR ZtI�� bY${Y R���$j$9s�$Bt {st $8}j�8�t� st BA`�{�$%�

BP {Z��s$j$t� {Z���t� $t%�R�8�t� stI }�B%$R$Bt$t� PB� �Y� PZ�Z��� VR $t �ZtI�jjT3j�8$t��

b� htI �Ys� R���$j$9s�$Bt {st Btjk RZ{{��I bY�t �Y� {�t��sj Ast, $R sAj� �B �s$R� IB8�R�${

$t����R� �s��R� <$�Y�� $t����R� �s��R YBb�%�� IB tB� �Zs�st��� RZ{{�RR� qY� ,�k JZ�R�$BtR

s�� bY��Y�� �Y� {s}$�sj $t4BbR s�$R$t� P�B8 Y$�Y�� $t����R� �s��R s�� }Z��jk �B }Z�{YsR� �Y�

�B%��t8�t� ABtIR RBjI $t �Y� R���$j$9s�$Bt B� bY��Y�� �Y��� $R s {Yst�� $t ��sj IB8�R�${

$t%�R�8�t� sR b�jj� stI bY��Y�� �Y� js���� $R {Bt��s{�$Bts�k sR I�R$��I B� tB�� yt R$�Zs�$BtR

bY��� �Y� ABtIR RBjI Ak �Y� �B%��t8�t� s�� s{{�}��I sR $t���ts�$Btsj j$JZ$I$�k Ak PB��$�t��R�

B� bY�t �Y$R Rsj� {st A� s{{B88BIs��I }Z��jk �Y�BZ�Y s {Yst�� $t �Y� }B��PBj$B BP �Y�

IB8�R�${ }�$%s�� R�{�B�� R���$j$9s�$Bt YsR tB ��sj �&�{� stI s �BI$�j$st$T�$jj�� �Y�B��8

s}}j$�R� 7���$j$9s�$Bt IB�R Ys%� �Y� I�R$��I �&�{� bY�t RB8� BP �Y� {s}$�sj $t4BbR RZAR�$�Z��

sbsk P�B8 PZtI$t� IB8�R�${ $t%�R�8�t� stI �B �Bbs�IR }Z�{YsR$t� �Y�R� ABtIR� VAR�t�

B�Y�� 8�sRZ��R� b� s��Z� �Ys� RZ{{�RR ��JZ$��R �Ys� PB��$�t��:R �-}BRZ�� �B �Y� {BZt��k:R �$R,

$R Y$�Y�� v��js�$%� �B I�R$��I }B��PBj$BRv �Yst �Y�$� �-}BRZ�� �B �Ys� {BZt��k:R �B%��t8�t�
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qY$�I� �Y��� s�� R{�ts�$BR bY��� R���$j$9s�$Bt As{,h��R sR {s}$�sj $t4BbR tB� Btjk �B

�Bbs�I }Z�{YsR$t� �Y� �B%��t8�t� ABtIR AZ� sjRB �Bbs�I $t{��sR$t� {B�}B�s�� j�tI$t�� yP

�Y� �B%��t8�t� ABtIR RBjI $t R���$j$9s�$Bt s�� $jj$JZ$I v����� A�{sZR� �Y�k s�� jBt��� ���8

stI �Y� R�{BtIs�k 8s�,�� $R $jj$JZ$Iv �Y��� $R s RB�� BP Xj$JZ$I$�k" 8$R8s�{Y �Ys� s�$R�R $t

�Y� {�t��sj Ast,:R Asjst{� RY���� y� YBjIR $t���ts�$Btsj ��R��%�R �Ys� $� b$jj RZ}}jk �B �Y�

}�$%s�� R�{�B� $t �Y� �%�t� BP s {�$R$R� AZ� �Y� j$sA$j$�$�R �Ys� $� YsR $RRZ�I s�� jBt��� ���8

stI $jj$JZ$I� ]s}$�sj 4BbR $t �B AZk �Y� �B%��t8�t� ABtIR stI �B �s,� sI%st�s�� BP �Y�

�B%��t8�t� j$JZ$I$�k {B88$�8�t� Ak j�tI$t� �B �Y� IB8�R�${ }�$%s�� R�{�B��

qY� AsR${ 8�{Yst$R8 A�Y$tI As{,h�$t� $R R$8$js� �B s XAs$jBZ�" }�BAj�8� sj�YBZ�Y $�

I��$%�R P�B8 htst{$sj 8s�,��R I�h{$�t{$�R �s�Y�� �Yst P�B8 8B�sj Ys9s�I B� �B%��t8�t�

$t�}�$�ZI�� 3B� �-s8}j�� RZ}}BR� �Ys� �Y� �B%��t8�t� s{JZ$��R $t���ts�$Btsj ��R��%�R �BIsk

stI $RRZ�R {B8}j���jk $jj$JZ$I �B%��t8�t� ABtIR �B �Y� 8s�,��� qYs� $R� �Y� ABtIR s�� jBt�

���8 stI Ys%� tB R�{BtIs�k 8s�,��� RB �Ys� �Y�k 8ZR� A� Y�jI Zt�$j 8s�Z�$�k� WBb RZ}}BR�

�Ys� �Y� {B88$�8�t� BP �Y� �B%��t8�t� �B RZ}}jk$t� �Y� ��R��%�R $t �Y� �%�t� BP �Y� {�$R$R

$R RYB���� $t ���8 u����� �Y� �B%��t8�t� $R �-}�{��I �B RZ}}jk �Y� ��R��%�R B%�� �Y� t�-�

k�s� stI �Y� ABtIR IB tB� 8s�Z�� PB� �bB k�s�R� qY�t� Ak $�R s{�$Bt stI {B88$�8�t�

�Y� �B%��t8�t� YsR $t{��sR�I $�R RZ}}B�� BP IB8�R�${ sRR�� }�${�R IZ�$t� IBbt�Z�tR stI�

{Bt��s�k �B $�R �Bsj� �&�{�$%�jk ��IZ{�I �Y� {BR� BP {s}$�sj PB� ��sj �R�s�� AZ$jI��R�;

yt R�{�$Bt 1 b� jsk BZ� BZ� AsR${ 8BI�j� G� RYBb �Ys� �Y��� bY�t IB8�R�${ htst{$sj
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8�t�R� G� I�8BtR��s�� {BtI$�$BtR ZtI�� bY${Y R���$j$9s�$Bt }Bj${k $R �&�{�$%� stI j�sIR �B

_s���B $8}�B%�8�t�R stI �YBR� ZtI�� bY${Y $� $R {B8}j���jk ZtIBt� Ak �Y� }�$%s�� R�{�B��

GY�t IB8�R�${ R�{BtIs�k 8s�,��R s�� $jj$JZ$I� �Y� �B%��t8�t� s{�$Bt {st As{,h�� j�sI$t�

�B s t�� jBRR BP $t���ts�$Btsj j$JZ$I$�k stI s _s���B jBRR�

7�{�$Bt ; sIIR 8Bt�k stI s j�tI$t� {Ystt�j� G$�Y$t �Y� {Bt��-� BP �Y$R �-}stI�I 8BI�j

b� RZ}}j�8�t� BZ� ��RZj�R b$�Y �Y� R�stIs�I �ZtI�jjT3j�8$t� $tR$�Y� �Ys� R���$j$9s�$Bt $R

8B�� j$,�jk �B RZ{{��I bY�t �Y� {�t��sj Ast, YsR tB {B88$�8�t� �B RZ}}jk $t���ts�$Btsj

;G$�Y RB8� ��jsA�j$t�� �Y$R 8�{Yst$R8 {st sjRB A� $jjZR��s��I %$s s h-�I �-{Yst�� �s�� {B88$�8�t��

7Z}}BR� �Ys� �Y� �B%��t8�t� YsR ��R��%�R �B RZR�s$t s h-�I �-{Yst�� �s�� B%�� �Y� t�-� k�s�� AZ� YsR $RRZ�I

ABtIR �Ys� �-}$�� 8Z{Y js���� qY�t {s}$�sj $t4BbR �B }Z�{YsR� �Y� ABtIR {sttB� �s,� sI%st�s�� BP �Y� h-�I

�-{Yst�� �s�� Ztj�RR �Y� ABtIR {st A� RBjI $t j$JZ$I R�{BtIs�k 8s�,�� $t �Y� t�-� k�s�� yP �Y$R $R tB� RB�

B�Y�� RYB���� ���8 sRR��R b$jj A� {��s��I �B �s,� sI%st�s�� BP �Y� �B%��t8�t� {B88$�8�t�� qY� IB8�R�${

}�$%s�� R�{�B� htIR �Ys� �Y��� $R �BBI I�8stI PB� RZ{Y sRR��R stI �s,�R BZ� jBstR w$��� R�jjR �Y� sRR��D stI

$t{��sR�R ��sj $t%�R�8�t��
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��R��%�R s� s }��TR}�{$h�I }�${�� qY$R sI%st�s�� BP s 4�-$Aj� �-{Yst�� �s�� RkR��8 $R j$8$��I�

$t �Ys� �Y� {B�� $RRZ�R I$R{ZRR�I $t �Y� }��%$BZR R�{�$Bt ��8s$t� stI �Ys� �Y� sII$�$Btsj

RZ{{�RR $t R���$j$9$t� {B8�R P�B8 $8}j${$� ��stRP��R �s�Y�� �Yst _s���BT$8}�B%�8�t�R�

yt R�{�$Bt x b� RYBb �Ys� BZ� }��R}�{�$%� ts�Z�sjjk s{{B88BIs��R �bB sII$�$Btsj RBZ�{�R

BP {Bt{��t IZ�$t� R���$j$9s�$Bt �}$RBI�RU qY� �$R� $t �Y� JZsR$ThR{sj I�h{$� stI �Y� RYB���t$t�

BP �Y� 8s�Z�$�k BP {s}$�sj 4BbR� G� RYBb �Ys� bY�t �Y� IB8�R�${ htst{$sj 8s�,��R s��

$jj$JZ$I� �Y� PB�8�� Rk8}�B8 8sk s�$R� �%�t bY�t �Y� R���$j$9s�$Bt Ps$jR $t �s$R$t� {B�}B�s��

$t����R� �s��R�  �Y$tI �Y� R�{BtI Rk8}�B8� Bt �Y� B�Y�� YstI� $R �Ys� bY�t IB8�R�${

htst{$sj 8s�,��R s�� $jj$JZ$I� s��t�R ZtI��%sjZ� �Y� $tRZ�st{� sR}�{� BP jBt� ���8 I�A�� qY$R

R$�Zs�$Bt $R s���s%s��I Ak st R���$j$9s�$Bt }Bj${k �Ys� PZ��Y�� R��s$tR �Y� j$8$��I IB8�R�${

htst{$sj 8s�,��R� 7�{�$Bt E {Bt{jZI�R stI $R PBjjBb�I Ak st s}}�tI$-�

1 V �BI�j BP ]�$R�R stI yjj$JZ$I 3$tst{$sj �s�,��R

yt �Y$R R�{�$Bt b� I�%�jB} s R$8}j� B}�t �{BtB8k 8BI�j bY��� �bB PB�8R BP j$JZ$I$�k� IBT

8�R�${ stI $t���ts�$Btsj� s�� ��JZ$��I �B PZjhjj $t%�R�8�t� }jstR� yt���ts�$Btsj j$JZ$I$�k

I����8$t�R s h�8:R sA$j$�k �B AB��Bb P�B8 $t���ts�$Btsj htst{$��R� *B8�R�${ j$JZ$I$�k� Bt

�Y� B�Y�� YstI� I����8$t�R s h�8:R sA$j$�k �B AB��Bb P�B8 IB8�R�${ htst{$��R� V {js$8 Bt

s }$�{� BP jstI $t _s�s�Bt$s $R s IB8�R�${sjjk j$JZ$I sRR�� $t V���t�$ts� bY���sR �Y� IBjjs�

��R��%�R As{,$t� �Y� {Z���t{k ABs�I B� �-}B�� R�{�B� ��{�$%sAj�R s�� {BZt��I sR $t���ts�$BtT

sjjk j$JZ$I sRR��R� 7YB��s��R BP �$�Y�� PB�8 BP j$JZ$I$�k 8sk j�sI �B I$^{Zj�$�R� G� RYsjj

PB{ZR Bt stI I�R{�$A� st �-���tsj {�$R$R sR s R$�Zs�$Bt bY���� }�$8s�$jk� �Y��� $R st s�����s��

RYB��s�� BP $t���ts�$Btsj j$JZ$I$�k� qYs� $R� �Y� RZ8 BP �Y� $t���ts�$Btsj j$JZ$I$�k BP �s{Y

h�8 $R j�RR �Yst �Ys� ��JZ$��I �B PZjhjj sjj $t%�R�8�t� }jstR� yt �Y$R {sR�� IB8�R�${ j$JZ$I$�k

R��%�R �B sjjB{s�� $t���ts�$Btsj j$JZ$I$�k �B �Y� Y$�Y�R� %sjZ� BP ZR��

G� R�� Z} s 8BI�j �B �-}js$t YBb �Y�R� �bB PB�8R BP j$JZ$I$�k $t���s{� stI s��$%� s�

BZ� 8s$t ��RZj� BP �Y$R R�{�$BtU $t s Ikts8${ {Bt��-�� bY�t IB8�R�${ j$JZ$I$�k $R jBb s��t�R

b$jj ZtI��%sjZ� YBjI$t� $t���ts�$Btsj j$JZ$I$�k ��js�$%� �B �Y� {BtR��s$t�I �^{$�t� BZ�{B8��

*B8�R�${ j$JZ$I$�k $R jBb bY�t IB8�R�${ htst{$sj 8s�,��R s�� $jj$JZ$I stI ZtI��I�%�jB}�I�

qYZR� b� I�8BtR��s�� �Y� �-$R��t{� BP _s���B $8}�B%$t� }Bj${$�R $t {sR�R bY�t IB8�R�${

htst{$sj 8s�,��R s�� ZtI��I�%�jB}�I� yt �Y� t�-� R�{�$Bt b� $t��BIZ{� s �B%��t8�t� stI

R�ZIk �Y� �&�{�$%�t�RR BP R���$j$9s�$Bt $t $8}j�8�t�$t� _s���B �s$tR�x
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RYB{,R� $t �Y� 8BI�j �Ys� PBjjBbR b� RZ}}��RR �Y�8 $t B�I�� �B Y$�Yj$�Y� �Y� �RR�t{� BP BZ�
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$t���ts�$Btsj ��BRR $t����R� �s�� $R Bt��
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